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N.B.:
1) All questions are COMPULSORY.
2) Figures to the right indicate FULL marks.
3) Answers to both the sections should be written in SAME answer book.
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SECTION -1

What do you mean by ‘Global Manager’? State the functions of global

manager.
OR
Define ‘Planning’. State different types of planning.

‘Co-ordination is an essence of management’. -Discuss.

What is ‘Organisational Behaviour’? Explain the relationship between

management and organisational behaviour.
OR

Discuss Douglas McGregor’s Theory X and Theory Y.

Define ‘Personality’. What are its major determinants?

SECTION - 11

What is ‘Group Dynamics’? What are the reasons for forming groups?
OR

Explain group development in brief.

What is ‘Conflict’? Explain the stages in conflict.

State the different types of organisational communication.
OR

Describe different types of groups.

Discuss Interpersonal Conflict versus Inter-group Conflict.

Write short notes on ANY FOUR of the following:

Theories of Planned Change

Organizational Conflict

Barriers to Effective Communication

Types of Team

Group Composition
Resistance to Change.

[16]

[08]
[08]

[16]

[08]

[08]

[16]

[08]
[08]

[16]

[08]
[08]

[16]



32069

TOST TR
DRELE
) Ud U WIS STawEe R,
) ISRl 3T TN ST .
3) S faam were Swafeha ferET.
o -2
9.2 STTfdes SAaEATIe: ST FEUTATd ¢ STHTIdeh sqaETIehT=l] il €. (%)
Tohar
A)  TrasE = s=ren . FEsErE fafay yeer g, (0¢)
¥)  “OHag B SFAEATITE T AR == . (0¢)
.2 "HEATHSE IqUEh TSNS A SR F HEeATHS Iduh amefle (38)
Tohar
J) sd TR A ‘& fassa g 9 fasemareh ==t wa. (0¢)
w) ‘afthr’ 9 S ST . S Y U HIvd ¢ (o¢)
T -2
9.3 “FHE TRl TEUIS! I ? THE T AT 0T IO SR 7 €39
e
) T S AR T FH. (0¢)
q) ‘“foame’ vt wE? farerdie qe e w5, (o¢)
SR GeeATHsh HavaeArd fafaer yewr @, (28)
Thar
31) e fafay yer guia . (0¢)
w) AR foaTs fower stiaras foaTe s = (0¢)
T4 T HITTE = AT fese. (28)
a1) frfoa s R
) HEATHES foame
%) T FETEEATIS STSUD
g) TUR YFHR
3) HHE AT
%) sEo™ oty



	Page 1
	Page 2

